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Example:  Solve

You can't calculate the square root of a negative number.

No Real solution.
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Example: The length of a rectangle is 5cm longer than 
its width.  If the area is equal to 150cm2, what 
is the numerical value of the  perimeter of 
the rectangle?    

width:
length:
Area:

Perimeter = ________ cm 
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Example:  In the figure,       divides rectangle ABCD into 
two quadrilaterals: square APQD and rectangle 
PBCQ.  The area of rectangle ABCD is 120cm2.  
In addition,                         and                             .
What is the numerical area of rectangle PBCQ?



6.  Second­Degree Equations.notebook

7

October 19, 2022

Today, a father is 2 years older than triple his son's age.  
Five years ago, the product of their ages was 420.  How 
old is the father now?  
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